Subject: Re: Hard crashes with device,/retain=2 ?? (and another question)
Posted by condor on Thu, 20 Mar 2003 23:39:54 GMT

View Forum Message <> Reply to Message

condor@biosys.net (Big Bird) wrote in message
news:<df160b8f.0303201022.6521250f@posting.google.com>...

> For some reason the default retain=1 started working for me a while
> ago ...

Stopped working. Not started. Stopped. | wouldn't bother you folks if
it had suddenly started. :)

While I'm posting, is there a long-integer package for idl somewhere
in one of these libraries that seem to have everything? | mean a
package that can multiply or divide numbers with more than 80 binary
digits? Just asking before | go and re-invent the wheel...
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